[bookmark: _GoBack]Two large fast-food chains, Chipotle Mexican Grill and Qdoba Mexican Eats, are considering opening their restaurants in a small town. Both fast-food chains have similar technologies, and building, equipping, and staffing a new restaurant will cost them each one million dollars ($1M). If both chains open their restaurants simultaneously, the potential total fast-food revenue of two and a half million dollars ($2.5M) (for that year) would have to be split between them, with proportions depending on the preferences of the consumers in town. If a chain does not open a restaurant, it keeps the one million for other business purposes. Both chains care greatly about the short-term performance of the restaurants upon opening (this can be measured as the money in the bank account).
From the list below, pick the outcomes which are feasible. What conditions would lead to each of these outcomes?

A. Chipotle will build a restaurant while Qdoba will not.
B. Qdoba will build a restaurant while Chipotle will not.
C. Both Chipotle and Qdoba will build their restaurants.
D. Neither of the chains will choose to enter the market.

Now, suppose that the location researchers for both companies report that if both companies choose to enter the market simultaneously, the costs of building a restaurant would go up by a quarter of a million ($0.5M) due to the need to hire extra workers from out of town. Furthermore, both marketing divisions report that it is most likely that if both companies are present in town, customers are equally likely to eat at each of the restaurants. Given this, can you predict the outcome of the interaction between Chipotle and Qdoba with certainty? What would be the optimal approach that the companies might take in this case?
